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TNPSC Group 2 Model Question Paper 11

General Studies

1. By which of the following incidents, Motilal Nehru, initially a Moderate, took to extremist Nationalism ?
(A) Partition of Bengal (B) Surat Split
(C) Internment of Annie Besant (D) Chauri — Chaura Incident

Ans - (C) Internment of Annie Besant

SUTOUSFHD WOHUTHWTS SHHH Gordleorsd Gmm. H6 o 6ien 6k HHpFAwmsd Helyeurs
CarflwsHma@ mdemir?

(A) euasss LiMeNlenen (B) @ys Lerey
(C) ot QuFei Fewpeursid (D) GQgemfl — Qzenmym BlaopFd

Ans — (C) oiiiell Quae. Senmeuraid

2. Match List I with List Il and select the correct answer using the codes given below the Lists
List | List 11
(I) Poona Pact (a) 1946
(1) Official demand for Pakistan (b) 1945
(1) Simla conference (c) 1932
(V) Cabinet Mission (d) 1940

M vy
A © @ @ b
B @© @@ 0O
© @© @ GO @
G © G @O @
Ans - (C) © @ G @

aflng | 2 Lt eufleng |l eneill QUTHSHEH eufllFemdeEndd S CBTHSHSILL BoTen CHTGLIL6S®HbHS
gflwrer allewL_uflewend Ggpfley CFuls.

afleng | afleng 11
(D yeom o_LaiLigéems (o) 1946
(1) aFsmryien utdevgren Coriobeme (o) 1945
(1) Abeor oTHETIG (®) 1932
(IV) simwsagamald SNHIH G010 () 1940

o an o am av)
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A © @ @ O
B © @& 0O
© © @ 6O @
G © ® @O @
Ans - (C) © @ ® @

3. Find the odd man out
(A) Meghadutta (B) Raghuvamsa
(C) Mudrarakshasa (D) Ritusamhara

Ans - (C) Mudrarakshasa

SpHTEILIGTRIBMIOT CQUTHHHLBBNS GBIULIBES.

(A) Gusarsid (B) @y@euibaid
(C) wsyn g geib (D) ®aisbanmyb
Ans — (C) wpsdgm gm_gsid

4. Which is called as Encyclopaedia of Buddhism ?
(A) Madhyamika Sutra (B) Sutraalankar
(C) Mahavibasha Sastra (D) Buddha Charita

Ans - (C) Mahavibasha Sastra
UHSH SHemehFuID eT6eiimenlpbSLLIBousml 6157
(A) vsFufs EHHTD (B) @d@lymeveiisit
(C) wamralumag Frervgyb (D) ysssfsid
Ans - (C) wamralurag &revgyn
5. Two achievements of the Justice Party
I. The domination of Brahmins
Il. Mid — day meal scheme
I11. Free pattas for housing sites to the poor
IV. Caste and wealth played vital role
(A 1, IV B) 11, ©) 1,1 (D) 11, IV
Ans - (B) 11, 1l
bHdH S Fulen FTHmeHsMed Erevi(h
l. GymoewmiTaeien oadbHiD
Il. @eveus AW 2 _awieydh S LID
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. gemipsEndE @eveaud il (B LML LT 6IPRIEGID S LD

IV. grd) wBpib uswild GFevautdE OUBE CHTLhIEWISI.

(A) 1, IV B) 11, 11l ©1nn (D) NI, IV
Ans - (B) 11, 111
6. Find the odd man out
(A) Mahavir charita (B) Uttara Rama charita
(C) Buddha charita (D) Malati Madhava

Ans - (C) Buddha charita

SPHTEILIGTIBMIOT CUTHHHLOBBNHE GHBILLIBS.

(A) wapreist sfbslyd (B) 2_sgly gmofr gflgayin
C)uss sfsslno (D) wreog) orgeutd
Ans - (C) usg &fosind

7. Which one of the following factor not related to the generation of ocean currents ?
(A) Different in temperature (B) Difference in salinity
(C) Difference in density (D) Difference in rainfall

Ans - (D) Difference in rainfall

&L60 HOIm LD gBUGAISBE HIHEWIL HIT6RNHaT60 61hFH 6N FIOHSUILIL 6)606m6V.
(A) Geutiensy CeumILTBeseit (B) 2_euitinlw GeuminGessit

(C) oiLThg) BaummBssit (D) weniptiumfe) GeumiLmhaei

Ans — (D) wenprioumfe) GeumiLmGasit

8. The stratosphere is called the isothermal layer, because of its
(A) Cloud and dust (B) Clear sky
(C) Water vapour (D) Constant temperature

Ans - (D) Constant temperature
eOBLLBLmerolwiT - &0 Geulil SIBHG 6160 SiMPSHHLILGEUSHET HIJGIOTS DU, HET
(A) Gwasld WwBEGID &I (B) Qmefleument  eumeorid
(C) Byl (D) Bewsouwiren GeuliLib
Ans — (D) Blemsowimen GQeuliLib
9. The planet which rotates in the opposite direction of its revolution is
(A) Mercury (B) Jupiter (C) Earth (D) Venus
Ans - (D) Venus
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Gfwener BB QI Hewad@ AT HenaFuied FHIPsVID CHTeNTeSl.
(A) ymsi (B) efwimipesit (C)yw (D) Gsusiterd
Ans — (D) Geusiterf

10. Match List I with List Il and select the correct answer.
List | List 11
(@) DART 1. Flood management
(b) DPAP 2. Cyclone warning
(c) NFCP 3. Tsunami management
(d) CWDS 4. Drought management
@ ® @© @
(A) 3 4 1 2
(B) 4 2 1 3
C 2 4 1 3
(D) 3 2 4
Ans - (A) 3 4 1 2
uliguwisd |2 Ler uliguwesy Il ener QuUTmSHS S6p o siten GHTEGUINMmHESH Flwmer elenulener GHifley
CQFus :
U lguisv | uguisd 1
(@) DART 1. QeusitenIGLIHEBSG BLosOT6wIENLD
(b) DPAP 2. Goraled aFFNbamd
(c) NFCP 3. Genmill  BGLosVTeuTEnLD
(d) CWDS 4. qupl_ 8 GLosumamtento
@ ® @© @
(A) 3 4 1 2
(B) 4 2 1 3
) 2 4 1 3
(D) 3 1 2 4
Ans - (A) 3 4 1 2
11. The lowest cover of forest type in India is
(A) Tropical evergreen forests (B) Tropical thorn forests
(C) Mangrove forests (D) Alpine forests
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Ans - (C) Mangrove forests

@bHuwds HThHHes0 BHGHMMbHH LFLILIETEI60 2 676 HTH ---------- SLEID.
(A) S1wesr 6w 6V LIGHEMLOOTBTES  HTBSH6IT

(B) siwenm wewi_60 (IPL LSHiTd STHES6N

(C) saiy Blev &rHH6NT

(D) susvemuishr HTBas6N

Ans - (C) gz Bev &mHadsiT

Consider the following two statements consisting of Assertion (A) and Reason (R) and select your answer
using the codes given below

Assertion (A) : Receptors for steroid hormones are located inside the cells

Reason (R) :  Because steroid hormones are lipid soluble molecules that diffuse easily through the
phospholipid interior of cellular membrane

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not a correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Ans - (A) Both (A) and (R) are true and (R) is the correct explanation of (A)

e Smeursdwnissilsd Oar@asiin Beten Gamiur® (A) aflenésd (R)oudwenaisamend &mHEae0
Oaremip &S CaThHHSUIULBeiTen QHTGHUImha 2 mssT almLenul 05fle) GFuis.

Camiur® (A) : evlegmull’. GUISGBMT 2_ewi(hlD 2 _MILLSG6T OFsvels 2 686 DIMLOHE HBELD.

olendsd (R) : erdwegmun’ Bus@BT COamapliied smIunrsHeorsd GFsd msiailes LTero@UTETNI
auPwTes CFeLelanlsll 28m(BHmIa|LD

(A) (A) wigp (R) sflwrerensy (R), (A) efler sfilwimen ellenésid

(B) (A) wpmio (R) sflwrsrensu (R), (A) elen gflwimen ellendbsld Sisvev.

(©) (A) siwrenal (R) seumrengl

(D) (A) saupreng (R) sflwrens

Ans — (A) (A) opmib (R) sfwnenensy (R), (A) eflet sflwimen eflenésid

In India, the contribution of agricultural sector towards the Gross Domestic Product in 2012-13 is
(A) 55.0 percent (B) 38.0 percent (C) 13.7 percent (D) 31.7 percent

Ans - (C) 13.7 percent

@bgHumelst Cxsful aumwoTansHde Calenmewt siempuisd GoTeHE ol 19BETer 2 BUSHIGLITHET LG
P S R —— UG
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(A) 55.0 eflpssr®h (B) 38.0 ellqpssn(p (C) 13.7 ellqpssn( (D) 31.7 eNlpsst®
Ans - (C) 13.7 eflpdst®

Which one of the following is not the feature of democratic socialism?

(A) A socialist society aims at the removal of poverty

(B) No faith in a mixed economy

(C) Aims at the reduction of inequalities of income and wealth

(D) Aims at the provision of equal opportunities to all

Ans - (B) No faith in a mixed economy

QUTEHIOEDLEMID IMMBTUWIHLD LUBBIUI SIDHWIL. FnBHIH6T60 HOUBTEH FmBrlens &l lgh HTeRILISEHa|LD
(A) QuTsIeEDLMID MEIBTUIHSHSST CHTHHD aImIHenUl QLILILIG.

(B) ssvri QUTHEMTHTIHEN60 BIDLBensBUNaTentD

(C) swpsTwsSHsvisienauiseisn Gasvaid, aiELTaID SeuBafler FWBB Beneoulene &mmBohdHeo
(D) oiememalmBEGID FIOWTET ITUINIL D6ildHEHe60.

Ans - (B) sevliy QUI®menTHIrsHalsd BLoLNGEenSHUTemenio

‘Devaluation is a measure of monetary authority’

Which of the following item does match the below statement?

(A) To reduce the foreign value of the domestic currency mainly to increase exports

(B) To increase money supply

(C) To increase the current account deficit

(D) To contain inflation

Ans - (A) To reduce the foreign value of the domestic currency mainly to increase exports
‘UsnTodIL] GHewBLIL| Brewil Spenenru|flenindb@ o L ULL (Lpensr@LD’

Db FBBI SPOBTHHBIL BT 61hH HHHHIHEG OLITHHHLPHL UISHTGID

(A) @m BICIgsT gBpIng) ienelener RSN INSBETE HBBTG HOH 2 MBI (B Lewd ) BHTen
WHUIne HMBHGID CFUIL BHLAIQHMD

(B) 2_6ipm B Lt Senalene SFSMH@GID (1puiid
(C) BLIi semisE uBBTEGmBUIme NHBMHEEGID (i
(D) usmeisssHmed S GLLUGSHSID (Wi

Ans - (A) @B Bl ige gimind) Senelens AHSAIUSBHTH DIBHTH HNGH 2 6T G LW HI BSHT6
WHUIT HMBHESGID COFUIS BHLAIQHMD

Proposal to setup India’s first women bank was mooted in union budget
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(A) 2013-14 (B) 2012-13 (C) 2011-12 (D) 2010-11

Ans — (A) 2013-14

AbAHwrellsn (P Hed “loHeMiT eumhid” 6163 CUITFENEN ---------- WHHW auTey-0Feve] FHI L HIHeO (e
MEUSSBLILILL .

(A) 2013-14 (B) 2012-13 (C) 2011-12 (D) 2010-11

Ans — (A) 2013-14

Ammonia is manufactured by

(A) Solvay process

(C) Birkland and Eyde process

Ans — (B) Haber process
SIGomeilwm HwTfle@GD (Lpewm
(A) F16086u (LpemM

(C) IN&Gevemi. wBmID @B (PeHD

Ans — (B) Gamui s

(B) Haber process

(D) Claude’s process

(B) Bamuit psnp
(D) deumi oo (1pemM

Match the physical quantities in column | with their SI units in column Il and choose the correct answer

using the below given codes.
Column |

(a) Pressure

(b) Surface tension

(c) Surface energy

(d) Density

@ @G @© @
A) 1 2 4 3
(B) 4 2 3 1
C) 2 3 4 1
(D) 3 4 1 2
Ans — (B) 4 2 3

1

Column 11
1. Kgm?
2. Nm*
3.Jm?

4. Pa

usd l-60 QaThdsiLl BeiTen @uiBululsd Seneydsmen LG |l-60 GarBosiulGeren S.l. Die0@sHEmL 60

Flwrasll QUITHEHHIS.
usg |
(a) siwsHsib

(b) gy Rapelens

usd |l
1. @&.5°

2.0
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(C) ugiiy eyBmed 3. gfev’

(d) &g 4. umeroged
@ (® (@©

A 1 2 4 3

(B) 4 2 3 1

© 2 3 4 1

(D) 3 4 1 2

Ans — (B) 4 2 3 1

Which of the following statements about ‘Cell theory’ is/are TRUE?

I. All cells are only rectangular in shape

I1. Cell is the basic unit of life in all living organisms

I11. All cells are having chlorophyll pigments

IV. All cells are undergoing mitosis and meiosis cell division

(A) I'and HI (B) Il and Iv (C) land IV (D) Il only
Ans — (D) Il only

‘60 GamuT®’® uBPuw SPHEHEHIL FBmiGeiey gl eleneu &fl?

l. simenbs QF60HEHID COF6ilals alIgaITRTEN6I

Il. 2 ulflenmuseiein eumDalel SHQLILIHL VG OF6L D@D

. siwansHs OFsvsEHD LFmFWL BBLGEmeN QUBSHSHELD

IV. sienendsl QFs0send eniol LTy oBmid wwmded QFsoLi@liysemsn GoBelsTeemid
(A) I wpgno 11 (B) I opmin v (©) I wBwio 1V (D) I o1 ®id
Ans — (D) Il LG

Which of the following is correctly matched?

I. Lichens - Chlorella

1. Mushrooms - Agaricus

I11. Algae - Penicillium

IV. Fungi - Usnhea

(A) | (B) Il (©) i (D) IV
Ans — (B) Il

SIp&HemIL_euBmie o1&k Flluirs QTS HSLILIL (HeiTeng)?

l. EMBVBHEIET0 - &8enmmyevevT
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Il. STENTENTEH6N - &l

Il. L6VBIT BB - QuefldeduwiLd

V. L, 6hemF FH61T - Sferoefum

(A) B) 1 ©m (D) IV
Ans — (B) 1l

The Right to Information Act was passed in the year

(A) 2003 (B) 2004 (C) 2005 (D) 2006
Ans - (C) 2005

HEalsd PD o NemFFl LD 6hd Rt BenpGaummii L gl?

(A) 2003 (B) 2004 (C) 2005 (D) 2006
Ans - (C) 2005

‘December — 7’ is otherwise known as

(A) Martyr’s Day (B) Flag Day

(C) Teacher’s Day (D) Worker’s Day

Ans - (B) Flag Day

‘pFIbuT-7" Ledteu(d BTenTed Sl LILNHBILBGSBS.

(A) Hwiredmsit geid (B) Q&g mei

(C) sy At &eorid (D) 2_swiplriumenit  geoid

Ans — (B) Qa&mg et

Name the first Tamil scholar who received the ‘Padmashree’ award

(A) T.P. Meenakshi Sundaram (B) R.P. Sethupillai

(C) M. Varadharajan (D) Ovvai D. Natarajan

Ans - (D) Ovvai D. Natarajan

‘wionf ellps OUBB PHed SUOPBIEHT wii?

(A) O&.Cum.Beim_d  aibgyentit (B) gr.19.@F s 6iTemen
(C) w.cugsyTFaumT (D) qenene.gl.BLFTE6
Ans - (D) genenen.gl.bLTTF60

UN Headquarters is located at

(A) Newyork, USA (B) Washington, USA

(C) Paris, France (D) London, UK

Ans - (A) Newyork, USA
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UN $6m606DI0UIHID 2 6116 G LD -----------

(A) Pugwirrs, USA (B) sureglmi_sir, USA
(C) unfero, Agmesterd (D) evewi_esr, UK.
Ans — (A) Puwirites, USA

Venus and Uranus revolve in clockwise direction whereas other planets revolve in the anticlockwise
direction

(A) All planets revolve in the clockwise direction
(B) All planets revolve in the anticlockwise direction
(C) Revolve as in question statement

(D) All wrong answers

Ans - (C) Revolve as in question statement

aieiery LOBBID WCFerery &HFHMISET HPHTT HIEBF HewFuled FIPsUID, BB SHTHMIGET HIQSTILD FPEVILD
FHemFH@ oHT HmFulsd SLPEVID

(A) imeibhs AJehIBEHD Bo&T) &EBE Haulsd &psd

(B) simansg Sysmisend sty FoBd Homssd afThHmaulsd &Hpsud
(C) alenmails o _eitengBui &ipsvild

(D) simenbsid Heupmer afenL .

Ans — (C) alleummafled o _sitenmiigBui sipsvitd

Normal haemoglobin content of an adult man is

(A) 10.5 gm/100 ml of blood (B) 12.5 gm/100 ml of blood

(C) 14.5 gm/100 ml of blood (D) 13.5 gm/100 ml of blood

Ans - (C) 14.5 gm/100 ml of blood

Fngmyent el emeit anf@or@Genmiisn 66| 6eTeien

(A) 10.5 &ymio/100 16.68 Bssib (B) 12.5 &ymd/100 18.69 @yésid
(C) 14.5 Symv/100 19.69 Byssid (D) 13.5 &gmin/100 1.69 Bssib
Ans - (C) 14.5 &ymi/100 ml of blood

Which one of the following can respire in total absence of air?

(A) Amoeba (B) Bed bug

(C) Hydra (D) Tapeworm

Ans - (D) Tapeworm

SIDOIHAITIUBMBIET 6T6me)  HIBASIELEVTIOE FHITHHDHDH Fnlguigh)?
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(A) ousur (B) ewiem y&A (C) swamL_gm (D) mremr yap
(D) B ya
28. Velocity of light is
(A) More in air (B) More in glass
(C) Same in air and glass (D) Neither (A) and (B)
Ans - (A) More in air
@emullesr Hewa Beausld
(A) srBplsd i8®ID (B) sewemimouiey oigesld
(C) smppfisid Sewtemmouievd SIFHID (D) A-wgib @svemev B-ujib @svemev
Ans — (A) srisled SIFHBID

29. Match the List | with List 11 and find out the correct match using the codes given below

List | List 11
States Cities

(a) Andhra Pradesh 1. Thiruchirapalli

(b) Karnataka 2. Thrissur

(c) Kerala 3. Bellary

(d) Tamilnadu 4. Anantapur
@ ® @© @

A 3 2 4 1

(B) 4 3 2 1

© 2 3 1 4

D) 1 4 3 2

Ans - (B) 4 3 2 1

uCiguisd sy uiiguisd Il 2 Ler QuImes Flwmer elensnul GaETGSSBLILIL Beiten Gnluibosenen
UWSTILBHSHE  CHTHOSHH.

uCiguisd | U guied 11
LOT[BI6VLD B&BJLD
(@) b Iyepeid 1. dmsdymusie
(b) &itBTL&BID 2. HmF@T
() Bapgerm 3. Gusoeor
(d) s1010BT6 4. MBS
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@ ® © @

A 3 2 4 1
(B) 4 3 2 1
© 2 3 1 4
o) 1 4 3 2
Ans - (B) 4 3 2 1

Which Indian State’s 100™ anniversary was celebrated recently ?

(A) Bihar (B) Gujarat (C) Maharashtra (D) Uttarpradesh

Ans - (A) Bihar

AbHwrelsd o 6ifen 61bd LOTHevSHHET 1006uk fewih ellpT FILIGHIHEL OeBmemTL T L L G)?
(A) et (B) ®egs

(C) wammradigyT (D) 2581115 Cpe100)

Ans - (A) e

The facility that enables the users to retain their mobile phone numbers irrespective of the mobile network
operator is known as

(A) Mobile Number Portability (B) Mobile Network Portability
(C) Mobile Internet Portability (D) Mabile Network Pass
Ans - (B) Mabile Network Portability

m&BICUF euemeuHeT OFUWIeT sTaugTd QBHUIIMID, Hogh BB elewtenem HHH MSHHIH CHTeiT6N
2 _HoD UFHUlene TIRITH DHEMLPLILIT?

(A) enslBUd eTamt HTEHOH6LIG6ENLD (B) swal1BLs] aueneuH6n  HiTd06\E61IWLIS6iTenLD
(C) waliBudl @ememiwimen GrsCsaiwusaeno (D) ensliGud) aueneusen HIOWaFFL B
Ans — (B) ewasl1BLd) aueneuden  HTd0lE6WLIg6ienio

DRDO belongs to which ministry?

(A) HRD (B) Defence (C) Environment (D) Finance
Ans - (B) Defence

19.SUT.19.. BHINB 61bH DMOFFHHMS FiThHSHI?

(A) wells suerr GobUTL HaHSHINMG (B) urgismii

(C) sbmiFesipsd (D) ¥a

Ans — (B) urgismii

If an electric train running at 108 km per hour, crosses a tree standing by the side of a track in 10 seconds,
the length of the train in meters is
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(A) 400 (B) 350 (C) 300 (D) 450
Ans - (C) 300

QM wWwenllbE 108 &H.16. GaussHdHled QFLID @ LISIOHTLT alewly, UTengd @I 2 66N @ LOJHnd
10 elenmgsefled &LbgH GFsogioTullst, Sisususwnguien memd (5L flsL)

(A) 400 (B) 350 (C) 300 (D) 450
Ans - (C) 300

Six persons A, B, C, D, E and F are sitting in a row. B is between F and D, E is between A and C. A is next
to neither F nor D. C does not sit next to D. F is between which of the following two persons?

(A)AandC (B) Cand B (C)Aand D (D) Aand B
Ans - (B) Cand B

A, B, C,D, Ewppid F oy eum putsst suflengwins siwipbaierenert. B, F oppid Dé@ @entufswid
E, Auvppid Cés@ @emLuleud siorpbaieienst. A ereiueut F &8am oisvevg DHBsT B s

o | smyelsvensy. C-wirenaum Dé@ ibHHH1H Reveneo sieflled F ereiiien eibsh @b BLITHEHSES
@enL_uiled o eienmit?

(A) A oppio C (B) C wpmio B (C) A wopmio D (D) A wiupip B

Ans - (B) C wppip B

Which of the following words cannot be formed from the letters of the word FUNDAMENTAL
(A) TEAM (B) MEDAL (C) MEAL (D) FULL

Ans - (D) FULL

Spseisupplel sibs eutThHensmu FUNDAMENTAL 6B sunidenguieit s1(pdaibseied Smbal
DIMIDES  (LPIQUITEI?

(A) TEAM (B) MEDAL (C) MEAL (D) FULL
Ans - (D) FULL

The circumference of the base of a 12cm. high wooden solid cone is 44cm. Find the volume.
(A) 606 cm® (B) 610 cm® (C) 614 cm® (D) 616 cm®
Ans - (D) 616 cm®

LOFHHET6OTEN @(H Hewiod FnlbLlell DlgF FBBeney 44 GF.15. BBID SiHeT 2wl 12 GF.6. sieflsd
DIHHWIDE FnlDLT6H B DiGTNAUD  BHTEWID.

(A) 606 Gz.18° (B) 610 Gz.15° (C) 614 Gz.18° (D) 616 Q.53
Ans - (D) 616 Gg.158°

10 women can complete a work in 7 days and 10 children take 14 days to complete the same work. How
many days will 5 women and 10 children take to complete the work.
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40.

41.

42.
43.
44,

Tnpsc Group 2 Previous Questions : https://goo.gl/PYqsd?

(A)3 (B)5 <7 (D) None of these
Ans - (C) 7

10 QuesimsiT @ Geousmevenuwl 7 BT &6Ms0 (LpQLILITTH6T. 10 GLHMSHH6T H6FH GCeusmsvenul 14
BIL&eflsd QFuIgh (WUUTTEHeT. 5 GUetssT BHID 10 GbmHEeT CFThaH iICaImevEUI  6T5HHMes
BT &eflsd QFuighl (WplUTTEHei?

(A)3 (B)5 <7 (D) GumanpiiwieuBpiled eTdHIOND E606me6v.
Ans-(C) 7

If x is an even number, then x* when n is a positive integer will always have

(A) Zero in unit place (B) Either zero or six in unit place

(C) Six in unit place (D) One in unit place

Ans - (C) Six in unit place

X et6iLigl @t GJLenLLILIeDL 6T6emr eTaillsd N- @ WM& (WY 6TeNTEmITS S(HHGLOLTIDSH! 60
eTLIOUT(SHID

(A) opoop @eoss sTemr @ SF60 L@ReIud RHEEGD

(B) giowp BQovés aait G HH0 LBIWID SiHVH 6 RHHGID

(C) gieop Bovés eamt BLHH0 6 BBHSGLID.

(D) oboop @evds san @S0 1 BHoGLD.

Ans — (C) @mens Revdbs leit G HHe0 6 BHBELD.

The H. C. F of two numbers is 8, which one of the following can never be their L. C. M?
(A) 24 (B) 48 (C) 56 (D) 60

Ans - (D) 60

e eteviibeilledr o Wit QuUTHIS STFewll 8 slamev LlsiiIHousaIBley 61hd 66wt DeuBplen L5FSH M
QUTEI LBIBTE QMBS (PIQUITSH

(A) 24 (B) 48 (C) 56 (D) 60
Ans - (D) 60

Where was the first Municipal Corporation established?

(A) Madras (B) Bombay (C) Calcutta (D) Delhi
Ans - (A) Madras

6IBIG (Pp&H6e0 (pefldlied &TTLCTasT gBLBHSHHLL L &7

(A) Qaeaene (B) umbGu (C) msvadhaT (D) G606l
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45, Match the following by choosing correct answer on the basis of formation of each states
(a) Kerala 1. 1975
(b) Sikkim 2. 1966
(c) Haryana 3. 1986
(d) Mizoram 4. 1956

@ ® @© @
(A) 4 3 1 2
(B) 4 3 2 1
(C) 4 1 2 3
(D) 4 1 3 2
Ans - (C) 4 1 2 3

LOTHIEVMIGHET 2 ([HeUT6IHEN SgliienLuflsd SlpHewiLsuBens FHWTS CUTHHHIS.

(@) Gaiyerm
(b) FbaId

©) emfwimenT

(d) L@
(@)

(A) 4

(B) 4

€ 4

(D) 4

Ans - (C)

(b)

3
3
1
1

4

1.1975
2. 1966
3. 1986

4. 1956
© (@

W NN
N W kDN

2 3

46. Which of the following is correctly matched?

I. Article — 153
Il. Article — 155

I11. Article — 161

IV. Article — 167

(A)
Ans - (D) IV

- Executive power of the state
- Qualifications for Appointment as Governor
- Oath or affirmation by the Governor

- Duties of Chief Minister Regarding The furnishing of
Governor

B) Il ©) i (D) IV
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SpHHemLauBmleT Fllwms QUImSHUILLL S 61517

l. el g5-153 - oMK BiTeUTs DH ST

Il. elg-155 - SUEBBT BT HHBHT  FHE&HI H6IT

. eNg-161 - SUEBBITEL TBHSUILGL 2 mIFCWTPUID useill LAyorewr(Lpb

V. ai&-167 - YEHBHEGHD HHIL DGMULG OHTLTUTEIUBBIEL (LPHEVEMLDFF ([H G 66N
&BL_6MLDG6IT

(A1 |\) 1 (©) (D) IV

Ans - (D) IV

47. Which of the following statements on Rajya Sabha is not true?
(A) It is a continuous chamber (B) It is not subject to dissolution
(C) 1/3™ members retire every year (D) Retiring members are eligible for reelection and renomination
Ans - (C) 1/3™ members retire every year
gregwl Fumepelll umps el Snpmibellsy SHeumreng e1gi?
(A) OzmLiba Papass onmbe
(B) ®m6vH85  (1pIQUITHSI.
(C) 1/3 2_minlenitasen @elGeurh UeWIBID @Uley GLIBICUTTEET
(D) guiey QuibmpenTaseT wmiLguld CHTHOHBHHHLIGMSBEHWD OB BHUILDTENHHBELD

HSHHWITETNTEHEIT

Ans - (C) 1/3 2_mitnievissit @elQaurm psmiGd @uie] GLBIeNTTEsIT

48. Which of the following statement is wrong?
I. The Directive, principles of state policy are enumerated in part IV of constitution
I1. The fundamental rights are enshrined in part I11 of the constitution
I1I. The term ‘secular’ too was added by thee 44™ Constitutional Amendment Act of 1976
IV. The term ‘socialist’ was added by the 42™ Amendment of 1976
(A) (B) l'and I ©) 1, lland IV (D) IV
Ans - (A) 1l
L1630 QU HENTIIBRIET 61hHd FnBml HOUMTeNSHI?
. s e B QBSI(PenBSsT DTFWevemIolL] LG BIeidsd Fnplul BeTengl.
Il. sugienL. o Memiset pfwiensolil] UGS cpsmled UL BeTengl.
III. ‘waaririsiemw’ 6B CFTBUSLD 446umh DTFWensvsnOl] FLL HHHEHHH60 1976 CFrobslLL LG

IV. ‘gosion’ aaip QFmed 1976 b uewiB 42605 HHSHHH6 ULy CFTdslulL gl
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49.

50.

51.
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(A) (B) I wBup 11 ©) 1, Il oo 1V (D) IV
Ans - (A) 11

Which South Indian King helped Pulithevan, the first freedom fighter of Tamil country, by sending 4000
soldiers to fight against Maba’khan?

(A) Travancore : Marthandavarman (B) Madurai : Poligars
(C) Pudukkotai : Tondaimans (D) Sivagiri : Poligars
Ans - (A) Travancore : Marthandavarman

HOPBSHH (PpHev &SHHATU Gumym L effiT LelshCHeue, WTUTET@MISE 61HITS BLHHW Gumflsd
4000 @premied aifTHEmen S@IIT 2 _Hal CFUIH DFFT-—------

(A) SmoUTBIgaT : LTS ST CUTLO6H (B) wgleny : LTn6MULISGSBTITE6T
(C) yzIBBHTL ML : QHTERIENL LOTEIEHSIT (D) floudif : LTeneNUISBTTTEHET
ARNS - (A) HmeuThIgnT : LOTTSHSTENILGUTLOGH

The chronological order of the following national leaders of India is

I. Lala Lajput Rai I1. Rajendra Prasad

I11. Dadabhai Naoroji IV. Surendranath Banerjee
(A) 11,1V, 1, 11 (B) IV, 11, 1,11l

©) 1V, 1 D) 1, 11, 11, IV

Ans - (B) IV, II, 1,111

@b Chrdush HemevalTodemen &rev alflenalilg aiflenaFlILBHHIs.
l. eomeom 6UgLIZ gTUI

Il. @by Lirgnd

. srsmuru CpenGrme))

V. a@ybaymrd LmenTed)

(A 11, 1V, 1,10 B) IV, 11, 1,11
©) L 11V, 1 ©) 1, 11, 11, IV
Ans - (B) IV, 11, 1,111

Which of the following is/are incorrect about the Swatantra party?
I. It stood for free and private enterprise

I1. It stood for the active role of the state in economic development
I11. 1t opposed centralized planning

IV. It stood for nationalization of private enterprise
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53.

54.

55.
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(A) L 111V (B) I and IV (©) land IV (D) Il and IV
Ans - (C) Il and IV

eeimeusiauBilsd HHbAITeS sl denwill uBy SeipTerenel g/ clener?

. 91658 &5HHT Salwnm sempaow AHNHHEHI.

Il. oi6s 8 Qurmentary auenT&dFullsd Sipflest (emenmiuTed FHUTL ML hHTNHBHSH!.

. @156 e S LOLme0 a1HTHSHH.

V. ossld seiwnm geopow CaFwinwinrés@gGamsd UHMNHSHIH.

A) L 111V (B) I wppp 1V (©) Il o 1V (D) I wBpo 1V
Ans - (C) Il wppio 1V

Which National leader was appointed as Dewan by Gaekwad of Baroda in 18707

(A) Surendra Nath Banerjee (B) Gopal Krishna Gokhale

(C) Bal Gangadhar Tilak (D) Dadabhai Naoroji

Ans - (B) Gopal Krishna Gokhale

1870-60 61 CpdwsH HemeveuT LGTTLTANE OBUISMTLTEL SHleumTemd HuIbBSLILIL L TT?
(A) &Crbdy Bre Guemited (B) Gamumey dmagen GsTaG60

(C) utev BRIBTHT HovHIT (D) srsmumil OpenGyred

Ans - (B) Garumey dAmadem CaraBev

Who is called as Indian Einstein?

(A) Varahamihra (B) Nagarjuna (C) Aryabhatta (D) Brahmagupta
Ans - (B) Nagarjuna

RbPHUI METETVIQ6N  ETEIIMBENLOSSLILIL L GIT  WITT?

(A) sugrsLiasyit (B) mresitseuit

(C) eyfwLir (D) Wgmo@ s

Ans - (B) mrairgseonm

Among the Sangam literature, find the odd man out

(A) Nattrinai (B) Kalithogai (C) Naladiyar (D) Kurunthogai
Ans - (C) Naladiyar

&6 CBETHHBLILL(B6iTen Fhid HTev EevbHSUIMIHT60 CLTHHSLOBBNS GBIULINHS.

(A) B ememt (B) 695051605 (C) mreviguumi (D) eunibesTens
Ans - (C) mrsoiguirmit

In India, Slavery was abolished during the governor generalship of
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56.

57.
58.

59.
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(A) William Willberforce Bird (B) Lord Auckland

(C) Ellenborough (D) Lord Hardings

Ans - (C) Ellenborough

wnit @baHul seuTent Glegsuyeord SmB@EGID GUTH Sigenlo (peHB @LOIGSILIL L F).
(A) elleveduid eflsoum@uidery LT (B) o, .moorhg L7

(C) ereveBmIBym (D) amrimgm My

Ans - (C) erevepmiGym

In India, Slavery was abolished by law in the year

(A) 1841 (B) 1842 (C) 1843 (D) 1845
Ans - (C) 1843

AbsHlwimellsd FLLL LTouoTe SlgenopenB @ISSUILLL  Sam0i[H

(A) 1841 (B) 1842 (C) 1843 (D) 1845
Ans - (C) 1843

Zooplanktons that remain for their entire life cycle as planktons are

(A) Haloplanktons (B) Meroplanktons

(C) Nektons (D) Benthos

Ans - (A) Haloplanktons

aleovm@ WGemer o ulflssl Heit (W euTpHmBWienss WIHemeuseaTEGal  euTLDE 636
(A) GamrGsomiemmsin L meir (B) u5@ymfNermmrai_Lmedr
(C) OrpésL_L e (D) Qustimmerd

AnNs - (A) Qamr@som e’ L Teir

Which of the following statement about circulatory system is wrong?

I. Transport nutrients

I1. Transport excretory product

I1l. Transport hormones

IV. Transport impulses

A)1&1 B) I & 11 © (D) IV
Ans - (D) IV

BrHa @LLIGWIL 60D UBBIW FaBpisellsy Heupmenened eTeneu?

l. 2 _ewieyl L QuUITHLBemen eIBmlFCFsvsvID
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Il. sfley GUTEHLBemen gHUlF OFsveVID

1. emrir@omsiiaemen 6indF6aFeoeID

IV. gresiBHe0senen &L 5HHIH60

A I &I B) &I ©m (D) IV

Ans - (D) IV

Choose the correct statement (s)

I. Larval forms of Taenia solium are oncosphere, hexacanth and cysticercus

I1. Suckers in Tapeworm are meant for attachment during locomotion

I11. Apolysis is a process in Taenia solium for embryonic development

IV. A mature proglottid is complete reproductive unit and produces eggs

(A) N1 &Il (B) I &IV (©) (D) 1l

Ans - (B) | & IV

BB FnBpIbHeNed Fflwmer Fmmenm CHTHOHM.

I eslumr Gamelwigbdedt eumiTauTdHeT eit@HTerOLIWT, CandenBseibs LBBID FerdleQFTHerD
I preml yepellsd smemriuLd @l BmIlYSSsT @ LQUWTFASE LweLba) s

1. eaefwr GFmelwbdled HeLGUEBID AIGLTeNsSleTD 6TETLIGI HMHEUSTT Hlemsvsnl GHNHELD.
V. paitbs LGyralenmigsd (Wpsvowimen @emICLmHES DHVGHHEHD (WL DL  BLUSHSHUD 2 6iT6re.
(A) Il opgio 11 (B) I By 1V © D) 1l

Ans - (B) | wigp 1V

Choose the following item that does not comprise under food subsidy in India

(A) Subsidies to farmers through Support Price

(B) Subsidies to consumers through Public Distribution System

(C) Subsidies to the Food Corporation of India

(D) Subsidies to fertilizer

Ans - (D) Subsidies to fertilizer

@bFHumelsy 2 euelBarer wrallul alenssHellsy 2 6T THend BHiTHOHM.

(A) wreiwiors  elaFTulseEns@Gs CBTHHSLILIGD 26mbHs 6ilensv

(B) wrelwiores Gurgl eflefGuITES8L L SHa6 cpeold BISTCMTTSEHGEE oML

(C) wrelwiors o el LUTHISILIL BHHSHHBE UIPHIGISI.

(D) movaust 2_gHa1HHT6  OT6NWID

ANs — (D) mevsuen 2 _5aHHIobosTen LOTaNID
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62.

63.

64.

65.
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Estimates of physical capital formation in India is done by

(A) Central Statistical Organisation (B) Reserve Bank of India

(C) State Treasury (D) Regional Banks

Ans - (A) Central Statistical Organisation

WPVHN DUHH emoe)] SieTenel @bHwimellsd 6bsh Bpleuend GoBOsTeTaBaI?

(A) wsHw Lsiteuluwied Bmieuesd (B) @psw Maien eukid

(C) wrBlev LI L &LD (D) eut Ly euridseit

Ans - (A) wsHw Lsiteuluwied Bmieuesd

Human Development Report of the world prepared and released by

(A) UNDP (B) UNEP (C) IBRD (D) ADB
Ans - (A) UNDP

o 6udmeNaley Load elem GIDUTH Sifldbensemuls SUTiHE Geueillulihalsis Bmieleid
(A) wyetebngrd (B) weretruiid (C) sisying (D) o1

Ans - (A) wyereingLd

Which one of the following is known as ‘Dry ice’?

(A) Solid carbon dioxide (B) Liquid carbon dioxide

(C) Gaseous carbon dioxide (D) Liquid silicon dioxide

Ans - (A) Solid carbon dioxide

BPHEWTL_QUBEIET 6TeNd ‘2 60T UebBL 19’ 616diBl SenpSHH eT@mmD?

(A) HLBlewev STTL6NT Nl YHmev[H (B) slenev &ML DL Sdemero®
(C) aurwyPlemsv  BITLIGH DL Hemer([H (D) pirHlensy Helbmran ml ydbamer®
ANs - (A) HLBlenev ST DL SdHenerv®

Select the wrong statement

(A) Calamine is a carbonate (B) Argentite is an oxide

(C) Zinc blende is a sulphide (D) Malachite is an ore of copper

Ans - (B) Argentite is an oxide

FHouprer CFTBOBTLemyd HemIBLIgHEID

(A) smevemioss e BTTLIGsI

(B) oimemeiien I @i FevenLIB

(C) mipsmBrs (Gsmewn_ (zinc blende) m Fevenu®

(D) omevensl eraiig SHMOATHAT @@ SHTHI QUITHEIT
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66.

67.

68.

69.
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Ans - (B) oimOmgsiienL L. @ F6vemLi®

Which of the following triads are referred to as coinage metals?

I. Li, K, Na 1. Be, Mg, Ca
I. B, Al, Ga IV. Cu, Ag, Au
(A) | B) II ©) i (D) IV
Ans - (D) IV

Spdbomemi (pibemip (triad)sellsd eibs paim 2 GooTdmmisemend OHTEmIL (LPDMID BTl 2 GeuTHmhIG6T
6160 DIEMLGHHLILIBGABEHI?

I. Li, K, Na

Il. Be, Mg, Ca

Il. B, Al, Ga

IV. Cu, Ag, Au

(A) (B) II (©) 1 (D) IV

Ans - (D) IV

A person suffering from defect cannot see with clarity the horizontal and vertical sections of

the object simultaneously.
(A) Coma (B) Long Sight (C) Astigmatism (D) Myopia
Ans - (C) Astigmatism

------------- ST GHB OBTEWIL @HeuFTe0 GuTeilen HenLSHHem LOBBID CFRGHHIHN LG,
SAFwensusenen @@y Crrsalsy Fflwums srem Guieorgl.

(A) Gasmiom (B) amyiumieney

(C) aierogmiBiol 19F1d (D) ewwoGurmtnfuim

Ans - (C) sieroigmiiBiol 19aid

Who was appointed as the new chairman of Railway Board on December 31, 2014?

(A) A K. Mittal (B) Navin Tandon (C) Pradeep Kumar (D) V.K. Gupta
Ans - (A) A. K. Mittal

&uT 31, 2014 oieml, Julsv@eu sumfllusbdell UHW Hemeveusrd BUIOSSUILL LT wmir?
(A) AK. 10 Lsd (B) el Lmebr_emit

(C) Wyasst1 @ ot (D) V.K. gLigr

Ans - (A) A K. 10 Lsd

Ampere hour is a unit of

(A) power (B) energy (C) charge (D) current
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Ans - (C) charge
spoiwim wen@ryd (HOur) ereiiug 61&6 Sisv@ p@&ID?
(A) o BBed (B) Hmesr (C) WBlstigmmi L1b (D) etr@eorm_Ltb
Ans - (C) Webrenim L 1b
70.
71. The new mineral discovered in Australia in 2014 is
(A) Purpurite (B) Petzite (C) Putnisite (D) Pyrope
Ans - (C) Putnisite
e Bredwimalled, 2014 oo oueih HewIBLIQSHSLILIL (BHeTem LWl SHefllolb
(A) uriryeny_ (B) Qui_ewar_ (C) yLefemar (D) ewui@yri.
Ans - (C) ur_eflemat
72. The term “Grand Master” is associated with
(A) Hockey (B) Football (C) Chess (D) Badminton
Ans - (C) Chess
“Hymemi TEVLT’ eTenId OFTeL 6THEIL 65T QHTLTLeWL Uigl?
(A) amrés (B) smeoLipaEl (C) saymismIid (D) umt_1lesTL_6dr
Ans - (C) sgiyhisid
73. The place in India, which is nearest to the “Tropic of Cancer” is
(A) Rajkot (B) Kolkata (C) Imphal (D) Aizawl
Ans - (D) Aizawl
@bgHwmelsv 1ggmiilsds o1 CHeisT GaHM 19B@E WS AMmBTEmOUlsL 2 6fTem G 1D
(A) greyGami (B) Q&m6bsHHT (C) @ibuimsd (D) suigsv
Ans - (D) auigsd
74. Padma Bhushan awardee of 2013 to sports is
(A) Viswanathan Anand (B) Sania Mizra
(C) Shri Rahul Dravid (D) Sunil Gavaskar
Ans - (C) Shri Rahul Dravid
2013 o 6B MlememuUTL I9MBamer LG LLeroet elhadl GLbBpeT?
(A) alerosumrsHen Sy eibd (B) gmeflwr iterom
(C) f gr@sv 19yTal” (D) sadied moumerdasir
Ans - (C) f gr@gev 19gmail”
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75. Which One is the correct statements? Mayor of the Corporation
(A) Nominated by the President (B) Elected by the members of legislative assembly
(C) Elected by the people (D) Nominated by the Governor
Ans - (C) Elected by the people
SIpHHEMIL_aUBMIeT 615 Fhlwmengl? ompaeyTLd Gl
(A) ®uwrss Hmevaugrsd BudealLGEBTT
(B) gt Lwsip o mitileniasnmed GHiThO\HHESESILGEAMBTT.
(C) wasenmsd BHTHOHBHEHB ILIGEMTT.
(D) auenmrmed BundebaiuGam.

Ans - (C) wasenmsd BHiThH0\H BB ILIGAMITT.

76. The Best Picture won in 85" academy awards ceremony is
(A) 12 years a slave (B) Argo
(C) The King’s speech (D) Life of pi

Ans - (B) Argo
85aum oLl allpHHaie, FBhs Syl elps GuBB Henylb?
(A) 12 mwiterd g e10Bev6H (B) suir@eam
(C) & dmierv eroLie (D) smsvit &1 emL.
Ans - (B) «uii@asn
77. Padma Vibhushan awardee of 2013 is
(A) Dr. Ashoke Sen (B) Dr. B.N. Suresh
(C) Prof. Yash Pal (D) Dr. Vijay Kumar Saraswat
Ans - (C) Prof. Yash Pal
SIpSHHEMTL_aITH6Med 2013 1D eulgBaETen LG eieret elhal GLmBmBeT
(A) Dr. o181 Qe (B) Dr. B.N. &:Grag
(C) Prof. werv umed (D) Dr. eflggus @Lonit Fervaus

Ans - (C) Prof. werdv wumed

78. Match List I with List Il and select your answer using the codes given below
@) WTO 1. National Leprosy Eradication Programme
(b) FAO 2. United Nations Human Rights council
(c) UNHRC 3. Food and Agricultural Organisation
(d) NLEP 4. World Trade Organisation
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(@)
(A 3
(B) 4
€ 1
(D) 4
Ans - (B)

uliguisd | g9 Ll iguisd
alenLenwldh CHTHOHM.

(b)

A P W WD

© (@

1 4

2 1

2 4

3 2

3 2 1

o Lt QuUImSHSH &6 GEmBHEHILLBeten GnBluihaemend Gamewih Ffuimet

@) WTO 1. Cxflw Osmey GpmMU @Uiliys S LD
(b) FAO 2. ;e BIHS6T wellsh o MenindaIpsid
(c) UNHRC 3. 2 _cwie) LOBUID eNEUFTL DIEMLOLIL]
(d) NLEP 4, osie0 QUTHSHH DIGHIDLIL]
@ ® @© @
(A) 3 2 1 4
(B) 4 3 2 1
©) 1 3 2 4
(D) 4 1 3 2
Ans - (B) 4 3 2 1
79. Which of the following pair is not correctly matched?
A B
(A) TRAI - June 2008
(B) NTP-99 - July 2001
(C) PMRTS - November 2001
(D) GMPCS - November 2002
Ans - (D) GMPCS - November 2002

&6 CaETHHSIILL (BeiTenauBnlsd 61& CGUIHSHSHIOTRIH E60en60?

A
(A) TRAI

(B) NTP-99
(C) PMRTS
(D) GMPCS

B
- oSetr 2008
- oSemev 2001
- peutbuim 2001

- peutbim 2002
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80.

81.

82.

83.

84.

Ans - (D) GMPCS -
The greatest number that exactly divides 105, 1001 and 2436 is

(A) 7
Ans - (A)7

Prepared By winmeen.com

November 2002

(B) 3 ©9 (D)5

105, 1001 @b 2436 AW eTemimemen WSFFALTS IGHHEID WU 616w,

(A7
Ans - (A) 7

(B) 3 OF) (D)5

The value of x in the equation (925)2 — (225)2 = 1000 X is

(A) 805
Ans - (A) 805

(B) 805000 (C) 1850

(D) 1.85

eiieuld FWeTLM 1960 X aif &y sieen? (925) % — (225) 2 = 1000 x

(A) 805
Ans - (A) 805

(B) 805000 (C) 1850

(D) 1.85

What could be the maximum value of R in the following equation, where P, Q and R represent the unit
values 56 P + 37 Q =48 R = 14818

(A) 4
Ans - (B) 8

(B) 8 )0

(D) 6

Weieu@id Fosumigsd P, Q wimid Reydwienen oe0g o miliset sefled, R et oifsul g gy
agleutd Rmes@n? 56 P+ 37 Q =48 R = 14818

(A) 4
Ans - (B) 8

(B) 8 €0

(D)6

One half of one third of one sixth of a number is 10. Then the number is

(A) 350
Ans - (B) 360

(B) 360 (C) 340 (D) 375

m eewenflelr FiluTalulsd peiipfled @ WLMAH Y60 @ WLMEEG 10 eafled b sleun

(A) 350 (B) 360 (C) 340 (D) 375
Ans - (B) 360

The 20™ term of 2, 10, 30, 68, ------------- is

(A) 408 (B) 8020 (C) 820

Ans - (B) 8020

2, 10, 30, 68,

---------- 6IGOILIGHET 20 YD o mIli
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85.

86.

87.

88.

Tnpsc Group 2 Previous Questions : https://goo.gl/PYqsd?

(A) 408 (B) 8020 (C) 820 (D) 420
Ans - (B) 8020

How many two digit numbers are divisible by 13?

(A) 7 (B)8 (C)9 (D) 6

Ans - (A)7

13 60 GUBID BB Bevbd slemidae eraneudmas

(A) 7 (B)8 (C)9 (D) 6

Ans - (A) 7

Two pipes can fill a tank in 10 hours and 12 hours respectively while a third pipe empties the full tank in 20
hours. If all the three pipes operate simultaneously, in how much time the tank will be filled?

(A) 7 hours (B) 8 hours
(C) 7 hours 30 min. (D) 8 hours 30 min.
Ans - (C) 7 hours 30 min.

Qe GTUIS6T e BT genuwt penpGuw 10 el wWBMID 12 wewll CHIHHEL BIFLL Fnlguisne.
G cpsiipTeudl @ GLTU! Sganidl (P GaTlgemuwiud 20 wenll CEISHHlsL HT6d GFIWS Sigwig.
eml GWTISEHD @6 CHIHHled GFWeLLIL LT COFHTLY (PpIPsuSID BIFbL sisiusueTey GBILD @ELD?

(A) 7 wem (B) 8 wewf

(C) 7 wewfl 30 Bio. (D) 8 wemf 30 Bib

Ans - (C) 7 wewh 30 o,

Find the missing number in the place of “?” 3 : 11 117 : ?

(A) 18 (B) 22 (©) 29 (D) 51

Ans - (D) 51

3:11 =27 2“7 eleti3 @LSHFH60 NBUL L eTevTenenid HetBLIIg.
(A) 18 (B) 22 (©) 29 (D) 51

Ans - (D) 51

Temperatures are recorded every 1 hour for eleven hours from 6.00 am onwards in a town. The averages of
the first six readings is 30° C the last six readings is 20 ° C and the overall average is 26 ° C the sixth
reading is -------------- °C

(A) 25°C (B) 15°C (C)14°C (D) 26°C
Ans - (C) 14°C

QM BEIHIHL HTewev 6 el (WHev @ el CHISHHBSG @ wWenm, 11 wewll GEID, Qsuli Sisey

SMBALLILGHSBan. (1pHsd 6 Geulin osneysefanr syrafl 30°C somLdl 6 Qe Seneysele Fyref

20°C uwppid oemaihbgs Ceulin sieneayssien sgrefl 26 ° C au@lb. SembALILIL 6a1g Ceuliu Siene)-
----- SGID
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89.

90.

91.

92.

93.

Tnpsc Group 2 Previous Questions : https://goo.gl/PYqsd?

(A)25°C (B) 15°C (C)14°C (D) 26°C

Ans - (C)14°C

In what time will Rs.1,000 become Rs. 1,331 at 10% per annum compounded annually?

(A) 2 (B) 3 )4 (D) None of these

Ans - (B) 3

. 10,000 e 10% e Fwl (B el ly eisHdHed sbHemen emiBHened . 1,331 og@n?
(A) 2 (B)3 (C)4 (D) Buopenpflaubpsd agiajd Bsvensv.
Ans - (B) 3

A sum of money doubles itself at 6 ¥ % per annum over a certain time. Find the number of years.
(A) 16 (B) 14 (©) 20 (D) None of these

Ans - (A) 16

THBHME PWBHBeMe0 @ GHUILL oiFe0 6 ¥4 % auligulsd @® LAIG UG0?

(A) 16 (B) 14 (©) 20 (D) Guomanpiwieupiisd eTdHIOND E606me6v.

Ans - (A) 16

A father said to his son, “your age now is the same as my age at the time of your birth” If the father’s age is
38 years now, the son’s age five years back was

(A) 14 (B) 19 (C) 24 (D) 38
Ans - (A) 14

QM HHWSH B CFTOSHBIT, ‘B LIBSHIOOUTH 66 euig @IOUTH 2 61 euuighl’ eTeiml. Reiiml
SHMBHUTNGHT eluIH 38 Y 6ewIHH6T 6T6HIBTE0 b AIHLMIBEHHE (Pl LDHEN6T 6IUIGH! 6T6d6n ?

(A) 14 syea@psei (B) 19 syemiBassit (C) 24 sy amsit (D) 38 oyemipamsin
Ans - (A) 14 =y sei

On selling a chair at 7% loss and a table at 17% gain, a man gains 296. If he sells the chair at 7% gain and
table at 12% gain then he gains Rs. 400. The actual price of the table is

(A) Rs.1,400 (B) Rs.2,400 (C) Rs.400 (D) Rs.800
Ans -(B) Rs.2,400

BIBSTEImW 7% Hagl HHBGHWD, Gwenmenwt 17% SeoTUSHHBSID QHeusT eIBBTEL Dieusd (H.296
@eorLienL_Smrer. Aensur BIBHETe] 7% ReoTusHHBSHID Cwensy 12% GeoTuSHBGHWD NBBTEL Dieued
Qumib Geomud eH.400 eTeiled GoemEQUTeH 2 _6uTenLOWITET  6)len6V.

(A) t5.1,400 (B) @5.2,400 (C) @.400 (D) .800
Ans -(B) .2,400
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94.

95.

96.
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The Lokpal and Lokayukta Bill 1968 passed by the Lok Sabha lapsed because
(A) Rajya Sabha rejected the bill

(B) President with held the bill

(C) Joint committee of the two houses rejected the bill

(D) Of early dissolution of fourth Lok Sabha

Ans - (D) Of early dissolution of fourth Lok Sabha

1968-10 ei(B LodHB6MemaUWIT0 BlenpGaummiil L GsomdLmsd wBmid Gsurd DWdBHT LCFTHT
HTevaudTengl, 6J6lerellsd

(A) rHevmissiT Diener SNDCFTHTmaN BITENHHE!.

(B) ®lwys semevaugmsd SIDCFTHT HHIHSeneubsiuL L gl.

(C) i Siemeuserlen dnl BH@GH (1 HADWCFTHTeN6N BITHMHHH!.

(D) mrenismeug) odboHemene (Lpeiidnl 198U HDeVSHBLILLL F).

Ans - (D) prsiismougl 10&B6Menen (LPsiidnl 198U SHeN60HBLILIL L &)

Which house of Indian Parliament can create a new All India service?

(A) Lok Sabha (B) Rajya Sabha

(C) Parliament house (D) None of the above.

Ans - (B) Rajya Sabha

BbHWIL LTTTEBHLOSIBSHH 6N 61hH Denal LHwl Sidlev @bH W Liewllenul o (Heursaeeord?
(A) Geurss gum (B) @ymshwr gum

(C) umyrenss  @svevld (D) Gumampfiw aigieLlsoensy
Ans - (B) @prshwr gum

Panchayat raj is related with the following

I. State Government

I1. Balwantray Mehta Committee

[11. 73" Amendment

IV. Rural Development

(A) Iand HI (B) Iland I (C) land IV (D) All
Ans -(D) All

LeiralmelsTeumsled LichFTUIHHITTRUID OFHTLTL|6TeTSI.

l. oTHlev  SIFEFThISD

I1. usveubdbrmUl GoHHT G
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917.

98.

99.

Tnpsc Group 2 Previous Questions : https://goo.gl/PYqsd?

. 730 Hmdbsid

IV. Sgmio wpeir@eurimid

(A) | wigio 11 (B) Il wigd 111 (C) | wmd 1V (D) simandsid
Ans -(D) simenggip

Consider the following statements :

Assertion (A) : The secret service expenditure is a limitation on the auditing role of the comptroller and
auditor general of India.

Reason (R) : The comptroller and auditor general of India is controlled by the executive
(A) Both (A) and (R) are individually true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are individually true and (R) is not a correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true.

Ans - (C) (A) is true but (R) is false

BIDBHTEWID UTHALIBIBEN6IT  H6)6D

amom (A) : gedW sl OFeve HEMeT Hewllbend CFUIL HENeVsID Hewidbemd &L HULTL (B
aFsmflesEd S GUULEG 2 6iTengl.

amyewip (R)  : Biteundwimed Henevenip Henllbend &L GUUTL.G HBETH &L GULL BHSLILIL BHeTenTiT.
(A) (A) wigp (R) @remiGGo &M, Guogid (R) eteiiugl (A) e sfwmer ellendasid

(B) (A) wpmid (R) @rewa®Bo afl, syeumsd (R) eteiiugl (A) elid@ gflwmen eflenébaibosven

(C) (A) sl =yemmed (R) soumi

(D) (A) saum aemeo (R) &l

Ans — (A) & syemed (R) seumi

The technique used to detect people suffering from Swine-flu at airports was to get their

(A) X —ray pictures (B) CT — scan images

(C) Thermo — graphic pictures (D) Ultrasound images

Ans - (A) X —ray pictures

aflomer Hleneowmhisefey, USTBESTUIFFI0 DuH LB wellGenyd Sl LweTUBSHSLLBLD
OHMOOBIL LGS0, 61HI 6THHBIIL L GI?

(A) X - a8t gell LI migei (B) CT -seiiGeuoimi L LNDLIBIS6IT
(C) Geuis euewyLIL oL migsiT (D) Gaalwiemym el LNDLIBIEGGT
Ans - (A) X - 81 gefl LI kisei

Which of the following is correctly matched?
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Constitution Articles
I. Fundamental Rights -12-35
I1. Fundamental Duties -36-51
I11. Directive principles of state policy -51A
IV. Citizenship -1to4
(A) I only (B) Il and 111 (C) M and IV (D) IV only
Ans - (A) | only

SpHHeMILauBmIeT FAwms QUTHHHUeTeNSl 61517

SITFIUIGVEMLOLIL| allg)
l. sgtuen. o Memipssit -12-35
Il. SuglienL &L_eninssit -36-51
. oipF suflar’ B OB (LpenBHsIT -51A
V. guufleio -1to4
(A) | o0 Gib (B) Il wigw 11 (C) 1l iy 1V
Ans - (A) | o Gio
The principal law officer of the government of India is
(A) Advocate General (B) CAG\
(B) Attorney general (D) Chief secretary
Ans - (B) Attorney general
LHIHW STFTRSSH6 (PSHeiend FLL S
(A) Hemevenid  cUIPEHEhHT (B) CAG
(C) semevemio gl L e (D) memevemingd GFulsoT

Ans - (C) semevenio gl L e
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